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· lines 50-52 Authors clearly stated that limescale forming is depending on pipe diameters and water flows. Therefore, previous performed linear regression analysis is under discussion. The conclusion that the equation (7) can model the process with the dependence on only the pipe diameter is contradictory then. Authors should clarify what actually they had in mind and therefore equation (9) is under consideration (which is nonlinear by the way) if v and Q are not independent, and I think it might be considered wrong. Just use that Q=0, and then v=0 as well. What value have the C0 output hardness then?

The equation (7) does not represent the model of the process but the dependence between the regression coefficient a in equation (6) and square of the pipe diameter, so it is not contradictory with the previous statement that limescale formation depends on pipe diameters and water flows. 

The model of the process is presented in equations (9) and (10).

The explanation of v and Q not being independent variables was added (page 13).
It is also explained that all shown models are valid only in the range of experimental data (page 10), so the empirical model is not valid for Q=0 and v=0.

· lines 137-138 It is unusual to name the parameter a0 as “free member”.

This is simply the intercept or the constant term in the multiple linear regression 

The parameter a0 name was corrected (page 5). 
· lines 229-233 As clearly stated, from the measured flow Q, linear velocity v, and Reynolds number were calculated. It is important to note that Q and v are not independent. Therefore, Q and v can not be used as the independent variables in the  modeling procedure.

It is explained in the text that Q and v are not independent variables and the models were corrected so that only Q appears in them as an independent variable (page 13). 
· lines 167-170 It is noted that the regression model will exclude the “free form”, actually the intercept or the constant term. This is called RTO (regression through origin). In general, the intercept should not be excluded and the authors have to put some more stress on this. If one knows from the reality that if all the independent variables have zero values, than the dependent variable must have the zero value as well, that might be the reason to exclude the intercept.  But from the statistical point of view, intercept should never be excluded in spite of its insignificance.  

On the other hand, regarding the equation (5) it might be safe to use the RTO regression. But if we look at the equation (5) for the relative mass flows and equation (6) as a simple RTO (for different pipe diameters) it is obvious that the regression coefficient is related simply to the ratio of output and input hardness having in mind that Q and v are dependent. Authors must choose Q or v but not both.

The parameter a0 name was corrected (page 5). 

The regression model was corrected and it include the intercept (page 13).
· line 303 Regarding the previous discussion the equation (10) is again disputable (used both Q and v as independent variables - which is not true).

Again, the intercept is excluded (not advisable). The interpretation of the given output from the software (not mentioned which software is used) is not correct.

The model were corrected according to the previous explanations. 
Explanation of the used software was added (page 10).
· lines 343-347 This is not a valid conclusion. One can not compare nonlinear (wrong) equation and linear regression coefficients. One can not say c=a/b is similar to c=a-b 

The conclusion was changed (page 14).
· lines 348-352 This is wrong conclusion. Coefficients a1 and a3 are significant and can not be removed from the model (high t-values, low p-values)

The conclusion was corrected according to the results of new models (page 14).
· line 362 Fig 3. is presenting four independent variables in two 3D plots. This is not clear enough.

The diagram was modified (page 15).

· line 373 Authors use Neural Network Model as well. It is not mentioned what software was used (MATLAB I suppose). As the NN are “black box” models, the main disadvantage of these models is how to reproduce it on the given data. Authors should give more details on how they get the results they presented. In the first place, Neural Networks will fit the data well in almost all cases. There is no equation with the given parameters found, and there might be a big problem and disadvantage. If one uses NN from a chosen software, one should at least give the code (MATLAB in this case) in order to show how the results might be reproduced provided the given data.

An explanation of the used software for the development of the neural network model was added (page 10).
The complete MATLAB script file which enables the reproduction of received results based on used data is attached as a supplementary file.

